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| PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes |
1 each sentence. Then mark the correct choice on your answer sheet.

1- The questionnaire was intended to --—--—---- information on eating habits.
1) retain 2) survey 3) elicit 4) presume
2- The prime minister has called on the public to ---------- behind the government.
1) rally 2) denote 3) pursue 4) underlie
3- College life opened up a whole -----——- of new experiences.
1) core 2) gamut 3) exposure 4) appreciation
4- The discovery of the new planet gave fresh ------—-- to research on life in outer space.
1) status 2) scheme 3) impetus 4) domain
5- It was ---eemunea of me to forget to give you the message.
1) pitfall 2) remiss 3) obstacle 4) inhibition

6- The number of old German cars still on the road ------ --== to the excellence of their
manufacture.

1) traces 2) orients 3) restores 4) attests
7- Age alone will not ------—-- them from gefting admission to this university.
1) react 2) distort 3) conduct 4) preclude
8- New technology, the main ---------- of the 1980s, has been a mixed blessing.
1} legacy 2) surplus 3) expansion 4) circumstance
9- I’'m sure my university days appear happier in —----—- than they actually were at the
time.
1} procedure 2) proportion 3) retrospect 4) approximation
10- Even a(n) ~--------- glance at the figures will tell you that sales are down.
1} cursory 2) implicit 3) marginal 4) sustainable

| PART B: Grammar

: (4) best fits each space. Then mark the correct choice on your answer sheet.

A map is always smaller than the real world which it represents. The difference (11} ------—--
berween the map and the Earth's surface (12) -=---=ee-- a scale ratio. For example, the scale
ratio  1:50,000 states that one unit of measurement on the map is (13) —--——-- fifty thousand
such units on the ground. Therefore, one centimeter on the map amounts to 50,000 centimeters
(500 meters) (14) ---—-- —- the ground.

A map at a large scale, (15) ---------- 1:10,000, will show a small area of the Earth's surface
in considerable detail. A small-scale map, will show a much larger area, but in much less
detail.
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11-1) in size 2) as size 3) from sizes 4) for sizes
12- 1) expresses 2} 15 expressing
3) is expressed by 4) will be expressed by
13- 1) equally to 2) equally with 3) equal with 4) equal to
14-1) in 2) on 3) over 4) under
15-1) similar 2) such as 3) being like 4) the same as

Passage 1:

To provide perspective on the types of flocculating agents, and clarify conflicting
terminology regarding flocculation, a brief survey of general principles and practice in use of
flocculating agents is presented.

Consider a suspension of solid particles in water, with a distribution in sizes of particles.
This suspension is called the substrate. In the usual situation, if the suspension is allowed to
stand quietly, the large particles settle out first. There is also a portion of very fine material that
settles only very slowly or not at all. This resistance to settling by the very fine particles,
relates to their surface properties, and to the composition of the suspending medium. For a
suspension of chemically homogeneous particles there is no fundamental distinction between
the particles that remain in suspension and those that settle out. Any difference is in degree
rather than in kind, and reflects the much larger surface- area- to- volume ratio of the smaller
particles.

16- The above paragraph is about:
1) distribution 2) nucleation 3) segregation 4) sedimentation
17- If mixing of the substrate is stopped:
1) larger particles precipitate first.
2) larger particles precipitate last.
3) smaller particles precipitate first.
4)larger and smaller particles precipitate together
18- According to the text, which one of the following sentences is correct:
1) larger particles in the substrate resist sedimentation.
2) smaller particles in the substrate resist precipitation.
3) for particles that are chemically nonhomogenous there is a fundamental distinction between
settled and unsettled particles.
4) for particles that are chemically homogenous there is a fundamental distinction between
settled and unsettled particles.
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Passage 2:

Most cell cultures produce a variety of foam-producing and foam stabilizing agents, such as
proteins polysaccharides and fatty acids. Foam build-up in fomenters is very common,
particularly in aerobic systems. Foaming causes a range of reactor opérating problems; foam
control is therefore an important consideration in fermentation design. Excessive foam
overflowing from the top of the fomenter provides a route for entry of contarninating
organisms and causes blockage of outlef gas lines. Liquid and eells trapped in the foam
represent a loss of bioreactor volume; conditions in the foam may net be favorable for
metabolic activity. In addition, fragile cells can be damaged by collapsing foam. Addition of
antifoam compounds to the medium is the most common method of reducing foam build-up in
fermenters. However, antifoam compounds affect the surface chemistry of bubbles and their
tendency to coalesce, and have a significant effect.on mass transfer coefficient. Most antifoam
agents are strong surface tension lowering substances. Decrease in surface tension reduces the
average buble diameter, thus producing higher value of surface. However, this is countered by
a reduction in mobility of gas liquid interface which lowers the value of ky. The resulting
decrease in overall mass transfer coefficient can be dramatie, by up to a factor of 10.

19- According to the passage:

1) foaming occurs only in aerobic systems

2) foaming occurs only in anaerobic systems

3) foaming is a rare problem in fermentation

4) foaming is a common problem in fermentation
20- Which statement is false about foaming:

1) proteins can act as foam producing agents.

2) foaming is an unfavorable phenomenon in fermentation.

3) foaming can facilitate contamination of the fermenter,

4) proteins, polysaccharides, and fatty acids are anti foam agents.
21- According to the passage:

1) antifoam agents enhance the mobility of foam.

2) antifoam agents have no negative impacts on fermentation.

3) antifoam agents have some negative impacts on fermentation.

4) antifoam agents do no alter the surface chemistry of the fermentation medium.
22-“Fragile” is closest in meaning to:

1) sensitive 2) robust 3) pathogen 4) natural
23- According to the passage antifoam agents have --------,

1) a positive net effect on pas-liquid mass transfer rate

2) a dramatic positive impact on gas-liquid mass transfer rate

3) a negative net effect an gas-liquid mass transfer rate

4) no significant effect on gas-liquid mass transfer rate

Passage 3:

When separation by distillation is ineffective or very difficult, liquid extraction is one of the
main alternatives to be considered. For example penicillin is recovered from the fermentation
broth by extraction with a solvent such as butyl acetate, after lowering the pH to get a favorable
partition coefficient. The solvent is then treated with a buffered phosphate solution to extract
the penicillin from the solvent and give a purified aqueous solution, from which penicillin is
eventually produced by drying.
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24- It can be inferred from the passage that a favourable partition coefficient is one which

results in -----—-- .

1) a lowering of the pH

2) an ncrease in the pH

3) a high partition of penicillin in aqueous phase
4) a high partition of penicillin in organic phase

25- Which of the following sentences can be inferred from the passage?

1) Liguid extraction is more effective than distillation.

2) Distillation is more difficult than liquid extraction.

3) Liquid extraction is chosen when distillation is not suitable.
4) Distillation is chosen when solvent extraction 1s not suitable.

26- According to the passage penicillin is recovered from the fermentation broth according to
which of the following sequences of unit operations? (AA=Acid Addition, SE= Solvent
Extraction, D= Drying)

1) Organic SE = AA— Aqueous SE—D
2) AA—> Organic SE— Aqueous SE—D
3) Aqueous SE— AA — Organic SE - D
4) AA— Agueous SE — Organic SE - D

27-Most higher plants cannot make direct use of atmospheric nitrogen, but there are
bacteria which can assimilate it. Assimilate means ——--—--—--,

1) accelerate 2) emulate 3) initiate 4} utilize
Z8- Fungi prefer terresirial environments and high concentrations of organic matter, while
bacteria prefer ---—--- environments.
1) hurmnid 2) aquatic 3} earthbom 4) high salinity
29- The basic source of calories is glucose, -=--—--- produced by plants.
1) a sugar 2) sugars 3) a dissaccharide 4} dissacherides

30- During the milk processing it is vital to avoid microbiological contamination.
“Contamination” means --===----,
1) activity 2) growth 3) infection 4} scandal
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